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DUMPSQUEEN

QUESTION NO: 1

TIBCO Enterprise Message Service Certification Exam Set 2

Atopic sales, topic is bridged to two queues: FINANCE.Q and AUDIT.Q. Ten messages are sent on the topic SALES.TOPIC.
A consumer reads ten messages from FINANCE.Q. How many messages are now in the AUDIT.Q?

Options are :

ten zero twenty five

Answer : ten

Which two actions are most likely to improve EMS server performance? (Choose two.) Options are :
Increasing network 1/0O capacity on the server Improving physical disk performance

B,D

Switching from a file-based store to a database store Adding an additional CPU to the server running EMS Answer : B,D
Which two statements are true about load balancing with EMS? (Choose two.) Options are :

Load balancing should be avoided when the application requires strict message ordering. A,C

Each consumer must maintain connections to all servers.

EMS servers should not be load balanced with durable subscribers.

Two load balanced servers can also be configured as a fault-tolerant pair. Answer : A,C

Which two statements are true about routing queue messages? (Choose two.) Options are :

Queue messages can travel multiple hops.

The concept of zones and hops does not apply to queue messages. B,C

Each server in the route path must have its queue defined as global.

Routed queue messages can travel to adjacent servers without reaching the home queue. Answer : B,C
Which two statements are true about writing a LoginModule, which implements a JAAS interface? (Choose two.)
Options are :

A. The LoginModule must be named JAASLoginModule.

B. The LoginModule must be thread-safe.

C. The LoginModule must use SSL.

D. The LoginModule must accept the password from the EMS server byway of a callback.
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ANSWER: B D

QUESTION NO: 2

Which parameter must be configured for primary and secondary EMS to operate in fault-
tolerant mode?

Options are :

A. ft_passive parameter in the tibemsd.conf file

B. store parameter in the store, conf file

C. server parameter in the tibemsd.conf file

D. ft_factory in the factories.conf file

ANSWER: C

QUESTION NO: 3

Which two statements are true about topics and queues? (Choose two.)
Options are :

A. A sender can send to a wildcard queue.

B. A consumer can listen for wildcard queue names.

C. A queue can only have one exclusive connected consumer at a time.
D. A publisher can publish to a wildcard topic.

E. A consumer can listen for wildcard topic names.

F. A queue can only have one consumer per message.

ANSWER: CE

QUESTION NO: 4

How do you achieve high availability for a TIBCO Active matrix Spring component providing a service with a JMS binding
type?

Options are :
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A. create a single node that spans multiple hosts to provide resiliency in the event of host failure
B. specify virtualization upon service deployment allowing Active matrix to transparently recover a failed service
C. deploy the service in the system node so the Active matrix infrastructure can manage availability

D. deploy the service across multiple nodes: TIBCO Enterprise Message Service delivers

ANSWER: D

QUESTION NO: 5

Which two statements reflect the realities about using common data models? (Choose two.)

Options are :

A. The use of comprehensive data structures that combine many concepts simplifies interface design.
B. The goal of common data models is to minimize the number of representation of each concept.

C. Enterprises typically require more than one representation for each concept.

D. A common data model provides a single representation of each concept that is used every where.

ANSWER: B D

QUESTION NO: 6

A manufacturer expose a Web Service to its customers, allowing them to securely place orders. The manufacturer requires
that only known parties use the interface. How is the customer. How is the customer's identity established?

Options are :

A. by sending the message over an SSL-encrypted channel
B. by specifying an authentication policy for the Web Service
C. by implementing a transactional policy set in Active matrix

D. by implementing strict authorization rules for the service

ANSWER: B
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QUESTION NO: 7

Which two notations are appropriate information model representations? ( Choose two.)
Options are :

A. UML class diagram

B. ER diagram

C. UML state machine diagram

D. UML use case diagram

ANSWER: B D

QUESTION NO: 8

Which type of wiring can be done at deployment time?

Options are :

A. from a service in one SCA composite to a reference of another SCA composite
B. from a reference in one SCA comopsite to a service of another SCA composite
C. from a component reference to a component service in the same SCA composite

D. from a component service to a component reference in the same SCA composite

ANSWER: B

QUESTION NO: 9

Producer A has published a message with expiration time as 30 seconds to a queue with
the property JMS_TIBCO_PRESERVE_UNDELIVERED set to true.

What happens when the message expires?

Options are :

A. The message is moved to Ssys.expired queue.

B. The message is deleted from the undelivered queue.

C. The message is moved to Ssys.undelivered queue.
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D. The message is completely deleted from the server.

ANSWER: C

QUESTION NO: 10

Which two statements about channels are true? (Choose two.)
Options are :

A. Al destinations for a channel must use different server connections.
B. A Channel can contain many destinations.

C. A destination can contain many channels.

D. Al destinations for a channel use the same server connection.

ANSWER: AC
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